111

5A 56 5B 5r 540 6A 6b 6B
pasr o/B|pa3r o/B|pa3r o/s|pa3r o/B|pa3r o/B|pa3r o/B|pa3r o/B|pa3r o/B
317 117 218 314 424 419 116 111
TeXH | pyc.A3 | pyc.A3 |aHrn.as matem | 6uon
113/167] 117 | 217 | 318 "M 421 | a6 | K
TeXH NUTEp | matem | pyc.A3 | pyc.A3 | aHrn.a3
113/167°°" MY 217 | 421 | 424 | 419 |320/423 PN
pbycAs | Texu | .| PYCA3 | MaTem UKT | pyc.as |aHrn.as
= 217 [113/167 117 218 [409/410, 116 |320/423
X
D
g TeXH | matem | po6/ | nutep | nutep pyc.a3
© 414 ®3K
5 | T M13167| 218 | wax | 424 | 419 K1 11s
X
=
= nutep | matem | TexH | nutep ®3K aHrN.a3 ®3K UKT
217 218 [113/167| 117 417/423 409/410
aHrN.A3 | AMTep | TexH UKT | pyc.a3
324/417| 117 [113/167/7¢°" 414 P3K nCT318 00 a10| 118
5A 5b6 5B 5r 540 6A 6b 6B
MmaTem | aHrn.A3 | pyc.A3 | TexH pyc.a3 | pyc.a3 | 6uon
u3o 314
426 (324/417| 217 |(113/167 419 116 416
430 314| PYC-A3 |@HINLA3 | TeXH | MaTem | matem | pyc.i3 | pyc.As
117 |324/417|113/167| 218 426 116 118
6uon po6/ | maTtem | TexH |aHrA.A3 | maTtem | autep
u3o 314
416 wax 426 |(113/167\417/423| 218 118
@ pyc.a3 | 6uon pyc.A3 | TexH | pyc.A3 | nAutep | matem
o u3o 314
':c:s 217 416 117 |113/167| 419 110 218
=
= matem | 6uon pyc.a3 | TexH obuy
Mer3l7) 518 | a1e "3 424 |1137167) 3K | 428
OAHKP matem | 6buon |aHrn.A3 | TexH obuy
111 PR 18 | 16 [324/4170113/167) 428 V7318
OOHKP




er (Y1} 7A 76 7B nr 70 8A
pa3r o/B|pa3r o/B|pa3r o/B|pa3r o/B|pa3r o/B|pa3r o/s|pa3r o/B|pa3r o/B
414 213 322 110 421 216 422 221
aHrn.A3 | matem pyc.a3
a18/423| 213 uct 317 my3 322 | anr 422 reor 420 116 anr 221
pyc.a3 | WUKT 6uon TBuC | pyc.a3
118 |409/410| 416 ucr 317 422 116 reor 420| ucr 318
=
o pyc.a3 6uon
:‘E 118 ®3K |anr421 416 ucr 317 i(my3 322 | anr 422 |pus3 426
o
S UKT |aHrn.a3| pyc.as pyc.a3 yepu
Z|" l409/410320/423] 217 |*™ 221 7447 |MeT1l0imys 322 5,
P
6uon | pyc.a3 pyc.a3 pyc.a3
a14 116 my3 322 419 ®3K |anr422 | ucr 110 118
maTtem | aurtep nutep
422 110 anr421| ®3K |my3 322, P3K 116 ®3K
aHrn.a3 6uon | nurtep aHrn.a3
417/418 @3k 414 116 ®3k 320/423
er (Y1} 7A 76 7B nr 0 8A
pyc.a3 | 6uon
ucr 318| P3K ®3K |anr221 117 414 $u3 216|reor 420
o0 | w3k | ®3K |uso322|reor 420duz 216 2" |anr221
428 414
maTtem | pyc.a3 | auTtep | pyc.as dus 216 UKT u30322| ®3K
422 116 217 419 409/410
pyc.a3 | pyc.a3 aHrn.a3 TBuC UKT
ov]
d 118 | 116 |P"®%%417/423"2°322| 435 |a09/ar0| P3K
e
o
s nuTep | matem | aHrn.Aa3 UKT | pyc.a3 aHrn.a3
= 110 | 421 |a17/418/®"2 *%®|a09/a10, 116 |2 %2 3207423
Kn/uac UKT |aHrn.as pyc.a3 | autep
PR 142y (39322 \400/010(320/418) T 42| 126 | 118
obuy, UKT aHrn.a3
®3K 428 409/410 reor 420 n3o 322 418/423 ucr 318




8b 8B 8r 84 9A 9b
pasro/s | pasro/s | pa3ro/s | pa3ro/s pasr o/B
316 420 220 118 318
mucr 318 | $m3 426 | anr 220 |pyc.a3 118 ®3K $u3 216
$u3426 | anr 220 | yepu 314 ®3K xum 316 (autep 117
3 pyc.a3 419 &3K ucr318 | anr220 | anr11l | xum 316
2
o ®3K ucr 318 | reom 220 | $13 426 | wmcr 317 anr 219
= aHrn.a3
yepu 314 | reom 220 | $pu3 426 320/418 nutep 424 | texH 312
aHrn.a3
obuw, 428 | uepu 314 320/418 reom 220 | reor 420 | TBuC 219
anr 221 |pyc.a3 118 yepu 314 | $pu3 216 | reor 420
8b 8B 8r 84 9A 96
aHrn.a3
anr 220 |nutep 118| wmcrt 317 418/423
aHrn.A3
320/423 mcr 318 | anr220 | anr111 | anr 219
aHrn.a3
reor 420 | anr 220 320/418 mcr 318 | anr11l | xum 316
aHrn.a3
g ucr 318 | 06w 428 | reom 220 320/418 nutep 424 | obuw, 317
E
> pyc.a3 419 nutep 118 | reor 420 | reom 220 | xum 316 |pyc.a3 117
6uon 316 | reom 220 | $n3 426 | reor 420 |pyc.a3424| 6uon 414
anr 221 | 6uon 316 |pyc.a3 116| ¢u3 426 | 6uon 414 nutep 117
aHrn.a3 aHrn.a3
320/423 | 7318 418




424

9B or o0 10 11T 11y
pa3r o/B | pa3r o/B | pa3r o/B pasr o/B
219 428 416 pa3sr o/s 217 a09 |P33 o/B 426
anr219 | nct428 (xum 316| marem 111 | p/p 424 UKT 410
¢m3 216 | anr 219 aRMLAS 1 atem 111 PaBo | arem 221
. 418 110
o
3 nutep npaso
:E 424 ¢$u3 216 |[reor 420 | aHrn.a3 418 110 martem 221
S
2 xum 316 | reor 420 | du3 216 nyn 421 o6w, 428 p/p 116
b
x
¢us/6mo
reor 420 | xum 316 | anr 219 obuy 428 mcr 318 216/416
®3K |texn312| PYSPR | qum31e | 2HTA3 | dms/6uo
217 319 216/416
®3K ";'I‘;p ucT428 | nutep217 |OBX 421| xum 316
9B or o, 10 111 11y
anr219 | ®3K |xum316| marem 111 ":;ip VKT 410
pyc.a3 nurtep
mct 317 | xum 316 217 aHrn.a3 418 424 UKT 410
nvtep | pyc.a3 npaso
424 117 6uon 414 ucr 317 110 martem 221
@ xum 316 |6uon 414| anr 219 dus 216 reor 420 | martem 221
o
S
I nutep maTtem
S 6uon 414| anr 219 217 dus 216 291 ucr 318
nurtep maTtem
TBuC 219 117 ®3K pyc.a3 217 221 ®3K
PYEA3 | 6w 317 ®3K OBX 421 ®3K




5A 5b6 5B 5r 50 6A 6b 6B
pyc.a3 aHrn.A3 | matem nuTtep | TexH
uer 3171 7117 1211 | 218 [M¥3322) 110 |113/167
pyc.A3 | maTtem ®3K pyc.a3 | WUKT 6uon | pyc.A3 | TexH
217 218 117 |409/410| 416 116 [113/167
UKT T:xl MaTem | uTep | pyc.A3 | maTem | TexH |aHrn.as
409/410 210/312 218 117 424 426 |(113/167|320/423
L nuntep | nurtep UKT | matem | matem | pyc.A3 | TeXH | pyc.A3
g 217 117 |409/410, 426 218 419 (113/167| 118
Q
aHrn.a3| WUKT | pyc.a3 6uon Mmartem
324/a17\a09/a10| 217 | 3K | a1e | P3K M¥3322) .0
MaTeMmM | aHrN.A3 | auTep UKT martem
426 [324/417| 217 |aogjaro| P3K | 3 | g |MY3322
aHrN.A3 OAHKP
324/417 110
5A 5b 5B 5r 540 6A 6b 6B
pyc.a3 MaTeM | aHIN.A3 | MTep |aHrn.a3
217 ®3K | 426 [324/417| 419 [320/a23/"€°" 414
aHrn.a3 pyc.A3 | maTtem | pyc.a3
324/417 ncr428| 3K 117 )18 419 reor 414\ n3o 322
OAOHKP | pyc.a3 pyc.A3 | maTtem | pyc.A3 | maTem
3K |11 | 217 (M8 Ton | 426 | 116 | 218
po6/
HKP .
; wax | ®3K |ucr317 O'[l" 11 |cT 428 reor 414 M;I;M p‘l’cl ;3
g 210/312
'8. maTem | pyc.Aa3 | matem po6/ pyc.a3
426 117 218 d3K wax ®3K |(n30322 118
210/312
MmaTem | maTem | aHrn.a3 nutep
426 218 [324/417 d3K 424 n30 322 ucr 318| @D3K
aHrn.[3 OAHKP
324/417 110




6r 60 7A 76 7B 7r 70 8A
pyc.Aa3 | pyc.A3 | 6uon | uyepu |aHrn.as| 6uon
3K | "116 | 217 | a16 | 314 |a18/423| 414 |22
nutep pyc.a3 | 6uon yepy | reom
110 my3 322 | anr 426 419 a14 anr422 314 221
pyc.a3 | 6uon | uepu | nutep | Knfuac | 6uon ®3K 6uon
118 | 416 | 314 | 419 | 421 | 414 316
o) adaHIrn.AaA3 6”01‘ yepuy TexXH
22 221 | anr 422 ®3K
2 " 322\3,0/a23| a16 |2M221|ar 314 3 421
Q
aHM.A3 | TexH TBuC yepu pyc.a3 | pyc.a3
418/4231113/167| 426 | 314 |42 3K V116 | 118
MaTem | TexH nutep aHrn.A3 | obuy,
422 |113/167] P3K (MCT317) 45 | 93K l418/423| 428
aHrn.as| pyc.as
ucr 317 | 3K 320/418| 116 anr 422
6r 60 7A 76 7B 7r 70 A
TeXH reom | pyc.a3 | reom
11316717318 re0r 420 51 | "197 | 422
TexH | pyc.As | pyc.As
113/167| 116 217 ¢u3 426 | ucr 317 | ucr 110 xum 316
adHIn.Aa3 pyc.ﬂ3 TexH reom pyc.ﬂ3
22 1
u30322reor 41410 018l 419 | 3 |113/167) 422 | 118
maTtem aHrn.a3 TexH UKT
£ a2p |M30322|0u3426/, .. ,550 PIK113/167/P12 21813137010
2 nuTep | TexH | nutep | reom pyc.a3
reor 414 110 |113/167| 419 422 du3 216 116 reor 420
pyc.A3 | matem | TexH obw, |aHrn.a3| TBuC reom
118 | 220 [113/167 317 |418/423| 422 | 221
nutep pyc.A3 |aHrn.a3| 6uon
217 ®u3216) *1 16 1418/423) 316
adHINn.Aa3

320/423




8b 8B 8r 84 9A 9b
nutep 419 ®3K anr 219
aHrn.a3
320/423 pyc.a3 118 ®3K anr 220 ucr 317 ucr 318
anr221 | texH 422 | anr 220 ®3K reor 420 | ¢$us3 216
-r-'; 6uon 316 | anr 220 | 6uon 414 3K o6bw, 317 | reor 420
B
Q
OBX 421 | 6uon 316 | TBuC 220 | 6Mon 414 | texH 312 |pyc.a3 117
reom 221 | TBuC 220 | autep 116 |pyc.a3 118 |pyc.a3 424 ®3K
TexH 111 | ObX 421 | 06w 428 | TBuC 220 | ¢$us 216 ®3K
aHrn.a3
320/423
8b 8B 8r 8 9A 9b
UKT
pyc.a3 118| ObX 421 313/410
aHrn.a3 UKT
320/423 | 313/410 reor 420 (pyc.a3 118
o3k | anmAs | VKT o or420 | 0B 421 | uer3is
320/423 | 313/410
aHrn.[3
< 3K xum 316 320/418 ucr 318 | TBuC 220 | ObXK 421
@
S UKT
= aHrn.[3
313/410 3K xum 316 320/418 pyc.a3 424| reom 219
reor 420 ®3K pyc.a3 116| xum 316 ®3K pyc.a3 117
reom 221 | reor 420 | TexH 111 ®3K nuntep 117
xum 316 BYA ®3K




9B or o4 10 11T 11y
dus/xum/
obuy,
®3K 216/316/42 UKT 410
8
dus/xum/
pyc.a3 obuy
424 aHrn.a3 418 | anr 219 216/316/42 reor 420
8
-r-'; ucr 317 anr 219 nucr 428 nuntep 217 mcr 318 nntep 116
B TexH 312| wucr 428 $u3 216 |aHrn.a3418 | nurtep 424 | nutep 116
aHrn.a3
¢éu3 216 | reor 420 TBuC 219 ucr 317 nutep 424 319/320
xum/uepuy
anr219 | ¢wus3 216 reor 420 6uon 414 mcr 318 314/316
6uon (M) xum/uepu
reor 420 | pyc.a3 117 | nutep 217 a14 aHrn.as 319 314/316
martem (B)
maTtem 221 221
9B or o4 10 11T 11y
dus/xum/
aHrn.a3 ucr
2 A3 11
418 ucr 428 216/316/31 ®3K pyc.a3 116
7
pyc.a3 du3/6uo
424 reom 219 ObX 421 | matem 220 ®3K 216/416
obuw, 317 c.a3117 | reom 219 | matem 220 | aHrn.a3 319 Qe
n py¢. ‘ 216/416
- K112/1'-I93C nutep 117 | pyc.as 217 reor 420 | matem 221 | pyc.a3 116
-
o)
.'9°I ObX 421| BY[ 428 obuw, 317 pyc.a3 217 | matem 221 ucr 318
6uo/npaso/
reom 219, ObX 421 | nutep 217 VIKT aHrn.a3 319 | Hem.a3 409
P 110/414/41 ‘ '
0
6uo/npaso/ aH.a3/
ucr 317 | TBuC 219 UKT Hem.A3
110/414/41 319/320/40

aHrn.a3 418




5A 5b 5B 5r 50 6A 6b 6B
®3K | PYCAS | PYCAS |aHMN.A3 | PYC.A3 | MaTeM | pyc.A3 | mMaTem
117 217 314 424 421 116 218
nITep | nutep niTep aHrn.a3 | matem
PR 17 | 217 (MB322) yp, POWA2ES50 003 18
pyc.a3 maTtem | pyc.a3 pyc.A3 | nuTtep |aHrn.a3
217 |™2322) 518 | 117 (Y7428 419 | 110 [320/423
MaTem matem | OOHKP | nutep pyc.Aa3
o |
E my3 322 )18 ncr 317 421 111 419 ncrt 318 118
A
= MmaTem OOHKP | nutep aHIN.A3 | maTem
i a1 | PR 11 | 117 [MB3220409/a03 218 |CT318
nmTep aHrn.s3 MmaTtem | nutep
217 ®3K [my3322|umct 428 324/417 ncrt 318 218 118
ncrt 428
6r 6/ 7A 7b 7B T 70 8A
aHrn.a3 | nutep reom TEXH
2 2
418/423| 110 221 |113/167 reor 420)us 426
pyc.a3 TEXH
ncr 318 116 reor 420 113/167 06w, 110|¢pun3 426
pyc.Aa3 reom reom TEXH
118 ncrt 318 471 obuw, 317|reor 420 422 |113/167 xum 316
- nutep |aHrn.as | pyc.a3 | TBuC | pyc.as TeXH
2
E 110 3207423 217 | 221 | 117 | **°|113/167
AN
E MmaTem | matem TeXH | aHrn.a3 | nutep nmTep
Q
222 | 220 1°®“3Y)113/167320/218] 116 |"TIO| 118
OOHKP | maTtem reor 420 TexH | /IuTep | aHrn.A3 | reom OBX
111 220 113/167| 117 |418/423| 422 314
OOHKP | TBuC |aHrn.a3| reom nutep | TBuC
111 421 |417/423| 422 obw, 110 116 221




8b 8B 8r 84 9A 9b
UKT
pyc.a3 419 6uon 414 | nntep 118 313/410
nutep 419 | nutep 118| ¢m3 421 | 6uon 414 | reom 111
TBuC 221 | $m3 426 |Kn/uyac 220| OB 314 | reom 111 | reom 219
2 xum 316 | ¢u3 426 |pyc.ns 116| obwy 428 a”ﬂf du3 216
-
X
S
E UKT
Y $n3 426 | reor 420 ®3K xum 316 | 6uon 414 313/410
$n3426 | xum 316 |autep 116 | $m3 421 | ¢$mu3 216 | 6uon 414
xum 316 | TexH 117 | nutep 424| wuct 318
aHrn.a3
418/423
9B or oa 10 11r 11y
du3/xum
®3K obuy 428 216/316
aHrn.a3 UKT
418 313/410 $us3 216 ®3K |matem 221| xum 316
$u3 216 | 6Mon 414 a”;:g'g' ®3K |pyc.n3 424 | nutep 116
VIKT reom 219 | 6uon 414 \matem 220 pyc.a3 424| ObX 314
3 313/410 i
-
X
E nutep 424 | ¢$m3 216 | reom 219 | autep 217 | 06w, 428 (matem 221
[)
reom219 | ®3K | Texn 312 | UKT 410 a";:;'?‘ matem 221
aH.as/
UKT Hem.Aa3
6uon 414 ®3K 313/410 nutep 217 319/320/4
09

ncr 428




